
1 

 

ST. LAWRENCE HIGH SCHOOL 

                  A JESUIT CHRISTIAN MINORITY INSTITUTION 

                    WORKSHEET  28  

 SUB: ENGLISH  ‘B’                                              CLASS: XII                                   F.M : 15                         

 TOPIC : Three Questions         DATE:30.01.2021.  

Multiple Choice Questions:                                                             1x15=15 

1.The hermit was working with a 

a.sickle                               b. sword                                  c. spade                        d. knife 

2. The hermit was 

a. handsome                    b. weak                                     c. strong                            d. young 

3. The hermit was digging the ground because he was 

a. making a well    b. hiding treasure    c. trying to teach the Tsar a lesson    d. making seed beds 

4. The Tsar stopped digging when  

a. he was tired                          b. the bearded man came                          c. the sun was about to set   

d. the hermit asked for his spade. 

5. The Tsar helped the hermit by 

a. digging the ground for him.  b. washing his clothes  d. carrying his luggage d. cooking food for him 

6. The Tsar repeated his question after digging 

a. one bed                     b. two beds                                   c. several beds                              d. a whole field 

7. Blood was flowing from under the man’s 

a. stomach                   b. hand                                           c. chest                                             d. leg 

8. The Tsar took from the hermit 

a. a towel                      b. a handkerchief                       c. a gauze                                   d. a torn shirt  

9. The Tsar nursed the man and  

a. fed him    b. gave him medicines     c. gave him injection     d. washed and bandaged his wound 

10. The Tsar and the hermit laid the wounded man on the bed inside the 

a. Tsar’s Palace              b. neighbour’s cottage             c. hermit’s hut                         d. tent in the forest 

11. The Tsar slept 
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a. underneath a tree           b. beside the bed                c. on a cot                        d. on the threshold 

12. The wounded man was the Tsar’s 

a. enemy                            b. relative                                  c. friend                           d. companion 

13. The Tsar was glad as 

a. his enemy failed to kill him      b. he could kill his enemy          c. he could meet the hermit 

d. he could make peace with an enemy so easily. 

14. The hermit did not answer the Tsar because  

a. he wanted the Tsar to continue digging.        b. he did not want the Tsar to leave 

c. he did not want the Tsar to dig any more.     d. he did not know how to answer the Tsar. 

15. As the man looked at the Tsar, his eyes were 

a. flashing                            b. bright                                     c. dim                            d. shining 
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